Wood block treated
1/2+x6x13 (38+x152x330)

1/, (38

) dim. at cts.

4-2 Unit expanding, or
self-drilling anchors for\
% (M16) bolts with

standard washers.

Wood block fTreated
31/, 4x6x13 (89+x152x330)
3!/, (89) dim. at cts.

1x4 (M24x102) Machine
bolt with plate
washer D and locknuT.

PLAN

TRAFFIC BARRIER TERMINAL TYPE 11

-

4 Epoxy grouted " (M22) anchor

bolts with standard washers.

TEMPORARY CONCRETE BARRIER

Temporary

* ¥

% (M16) Button head bolt with
hex nut and washer recessed

in wood block. ‘

See plans

bridge rail Plate [

AN |

; Bracket U

Splice plate /
-

___—— Standard

end shoe

EVG
(241)
3 3/, 3
(16) (89) (16)
1/ 1/
(32) (32)
[ &
|
Yax2'/> (22x64) (fé)
Slotted hole 7
I
N |
0 / 1 J5
U] | | U oL | —
= a <[
| | _ M =
lTl 218 -
o
<
[L | ' }r | <

3.
(95)
Yex2V/> (22x64)

SlotTed hole for
5% (M16) bolfs

BRACKET U

(/4 (6) Thick steel plate

Plate G | ' 9]
| ” | / || | | | \V | /|/ || ! | >° ° ]/ or rectangular fTubing
| ||0| e — 1 | | — 1] | - with flange welded on.)
T [ o] i T T g7 T >
[Iu=ﬂ o o
[l 1 A — Ly N |
I ‘x SE
NLO
[ +Splice bolts 4/ -
o A Splice bolts ‘
| 7 7 | 7S
/ G
(953) ‘
* Post bolt with plate | L, |
washer F placed ‘ 64 6'-3 ‘ 6/4 |
under head and nu-t. (159) (1.905 m) (159)
GENERAL NOTES
ELEVATION s 29 B . .
EEEEE—— P T For detalls of guardrail not shown, see Standard
Dia. hole &
5 630001,
\ \
13(“?5/2 <i2‘x57> S Install the face of the guardrail flush with the
oTTe oles Tack weld face of the temporary bridge rail. Install plate
9 17 5 7 6!/ 17 6% washer D so that the 1 (25 projection fills the
‘ (229)‘ ‘ (432) (121 (‘178) (15?) ‘ (432) (1 ol A ral remainder of the slotted holes in the 1 (25) end
Vo | Aa | 4/ 472 4Y/a | 4/ ass A rall | plate on plate G after the 1 (M24) diameter bolts
(6) (108) | (108) (114) (108) | (108) _ element ) are in place.
T, ~==- = (?T—l/ ! N (==] —ep— * Bolfs shall be provided with a lock nut or double
|E = \ /vg 5 & & / mgf and shall be tightened only to a point that
\ ; ; = = o5 = T — will allow plate o be free fto move.
¢ = o ¢ \ I allow plate G to be free t
fl N m 1= \/ Ve
| | |0 | | 1 29 Y (22) Di
P | = pR N % 8 - xx Affer tightening, cut the anchor bolts flush with
(4) T - ¢ steel rod nuts, and damage the bolt head to prevent fthem
L 5 | from loosening.
Coee B ro 1 (25) Steel Closs B rof Yax2/y (20x64) PLATE WASHER D
clement . plate clement slotted noles All dimensions are in inches (milimeters)
Yax4 (22x100) 9 x 1/ (23x29) unless otherwise shown.
Slotted holes Slotted holes
DATE REVISIONS
Illinois Department of Transportation LTEG . % 1-1-11 Corrected weld symbol on TRAFFIC BARRIER
(Place befween the rall
- element and Plate E) PLATE G detall.
T —ECT TERMINAL TYPE 11
m
ENGINEER OF 'POLICY AND PROCEDURES © 1-1-09 Switched units to

APPROVED January 1, 2011

L16-1-1

ENGINEER OF DESIGN AND ENVIRONMENT

English (metric).

STANDARD 631051-03




